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Learning Objective: 
	To be able to divide decimals
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to divide integers 

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]


	PRACTICE #1:  
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	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 
[image: ]



	PRACTICE #3:  
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Learning Objective: 
	To be able to use a calculator to solve problems involving decimals
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to find the HCF of two numbers

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]


	PRACTICE #1:  

[image: ]


	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 
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Learning Objective: 
	To be able to  form algebraic expressions from worded problems
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to use a variable

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
5 more than x  is…..   x +5

K less than 3 is……... 3 - k


	PRACTICE #1:  

[image: ]


	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 


[image: ]

	PRACTICE #3:  
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Learning Objective: 
	To be able to simplify algebraic expressions by collecting like terms
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to perform calculations with directed numbers

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]

	PRACTICE #1:  
[image: ]



	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 

[image: ]


	PRACTICE #3:  

[image: ]
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Question 1:  Work out

(a) 46+2 () 65+5 () 96+3 (d) 84+4
() 7.2+3 (f) 68+4 (g) 185+5 () 96+8
) 144+6 () 27.9+9 | 91+7 M 365+5
(m) 332+ 4 () 192+3 (0)27.6+6 (p) 424+8

Question 2:  Work out

(a) 3.96+3 (b) 0.75+5 (c) 856+ 4 (d) 0.528+6
(&) 581+7 (f) 0.657+9 (g) 2176 + 8 (h) 0238+7
@ 0119+7  (j) 0.072:6 (K) 2556+ 3 ) 3325+5

(m) 7012+4  (n) 9.927+9 (0) 12,065+ 5 () 0.16024+4
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Question 1:  Work out

() 602 (b) 4+05 () 12+03 (@) 201

(e) 25+ 05 (f) 15+03 (2) 0802 (h) 09+03
(i) 14+02 (j) 306 (k) 14:07 M 24+12
(m) 35+0.5 () 45+ 15 (0) 0.15+05 (p) 072+02
(q) 0.48+ 03 (1) 0.36+ 0.9 (s) 0.048+02 (1) 0095+05
(W) 0.072+06  (v) 1L05+05 (w) 429+ 03 (x) 078407

Question2:  Work out the following
(a) 2+005 (b) 3+0.02 (c) 6+0.03 (d) 12+0.04
(e) 15+ 0.01 () 60+ 0.06 (g) 0.08+0.04  (h) 0.06 +0.02

(i) 0.4+ 005 (j) 0.8+0.02 (K) 027+0.09 (1) 0.28+0.07
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Question 1: A sweet cost £0.04
How many sweets can 1 buy for £207

Question2:  Mia has 20 metres of ribbon.
She is cutting it into pieces that are 0.8m long.
How many 0.8m pieces of ribbon will she have?

Question3:  Yasmin has £17 in five pence pieces.
How many five pence pieces does she have?

Question 4 Find the missing numbers

0.4 x =208

0.7 x =45

Question 5: A teacher is placing textbooks that are 2.5cm thick on a bookshelf.
The teacher wants to place 60 textbooks on the shelf.
The bookshelf is 160cm long.
Does the teacher have enough room on the bookshelf for the textbooks?
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Expand and simplify 4(a - 3b) - 2(a - 2b)
Solve 2(a-4)=7

Work out 35 x £17.50

Express 110 as a product of primes

If the nth term is 12 — 2n what is the 10t term
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Rahul cycled 1.85 km from his house to the library, 0.535 km

from thelibraryto the postoffice and 2.7 km from the post

office to his house. Whatis the total distance Rahul cycled?

Distancetothe library 1.850
Distance to the post office 0.535
Distance to his house 2.700

85
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1) Ellen wanted fo buy the following ifems

« ADVD player for $49.95
« ADVD holder for $19.95
« Personal stereo for $21.95

Does Ellen have enough money to buy all three items if she has $90.

2) Melissa purchased $39.46 in groceries ot a store. The cashier gave her $1.46 in change from a $50
bill. How much change should the cashier have given Melissa?

3) If @ 10-foot piece of electrical tape hos five pieces that are each 1.25 feet cut from it, what is the
new length of the fape?

4) Patricia has $425.82 in her checking account. How much does she have in her account affer she
makes a deposit of $120.75 and a withdrawal of $185.902
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Darya and Kana are practicing for a rce. During practce.

Kana swam 11 laps with an avera

Iap. Darva swam nds
per . Trow much Tonger did it tke Kana o swam 11 laps

han Darya fo swim 12 laps’

Kana's ime = (11 lapsX. 20722 scconds

Darya'stime = (12 aps(20.5 see lap) = 246 seconds

2 e lap)
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7) If your weekly salary is $1.015.00, how much do you have left each week after you pay for the
following?

« Rent-$443.50
« Coble TV $23.99
« Electricity - $45.62
* Groceries - $124.87

8) Brad studied a fotal of 24.4 hours over a period of four days. On average, how many hours did
Brad study each day?

9) Find the perimeter of the rectangle below.

8750n

24in 24in

a75in
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Expand and simplify 2(4b - a) - 2(a - 3b)
Solve 2(2a+3)=10

Work out £787.50 + 35

Express 128 as a product of primes

If the nth term is 6 — 2n? what is the 4t term
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Question 1:  Write an algebraic expression for each of the following

() 4more than ¢ (b) 2lotsofa (c) 3lessthanb  (d) mdivided by 5
(¢) 7 multiplied by s (f) wsubtract1  (g) esquared (h) yadd9
(i) mshared between3  (j) 10 timesx (¥) klessthan8 (1) 12 lessthang

Question2: Write an algebraic expression for each of the following
(a) caddp (b) fminus m () atimesb (d) pdivided by z
(¢) btakenaway fromu  (f) kaddnaddr  (g) wlessthanc  (h) | multiplied by m

(i) y multiplied by m multiplied by a

Question3: Write an algebraic expression for each of the following
(2) mmultiplied by 2 and then add 3 (b) h divided by 4 and thenadd 7

) psquared and then add 10 {d) tadd 2 and then multiplied bv 5
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e
Write an expression for each statement. Use the variables x anc
y to represent unknown numbers if needed.

a) The difference of 3 times a number and 8
-8
b) 3 times the difference of a number and 8
3(x-¢%)

c) 5 times the sum ofa number and 6

SiEx @)
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Question3: Write an algebraic expression for each of the following

(2) m multiplied by 2 and then add 3
(<) psquared and then add 10

() 9 times e and then add 1

() m subtract 6 and then divided by 3

(i) k multiplied by 4 and then squared

Apply

(b) hdivided by 4and thenadd 7

(d) tadd 2 and then multiplied by 5
(f) hdivided by 3 thenadd 1

(h) y squared and then multiplied by 4

(j) a squared and then multiplied by b
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(g) msubtract 6 and thendividedby 3  (h) ysquared and then multiplied by 4

(i) kmultiplied by 4 and then squared  (j) a squared and then multiplied by b

Question 1:  An orange costs y pence, an apple costs z pence and a banana costs 17 pence.
Write an expression for the total cost of:

(a) 3 oranges (b) 5 apples (c) 2 oranges and 3 apples
(d) 2 apples and 1 banana (e) m bananas (f) 3 oranges and 3 bananas
(g) 20 apples, 10 oranges and 2 bananas (h) 4 oranges, 3 apples and n bananas

© CORBETTMATHS 2016
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Solve 3(x-3)=-12

Expand and simplify 2(2x- 1) - 3(x - 5)

Work out 63 +14

Increase £480 by 35%

Divide £55 in the ratio 3:7
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Question 1:  Simplify each of the following

@y+y+y+y (D) wrw+w+w+w
(e)n+n (f)greg+rere-¢g
(i) 3y +2y (j) 4a+3a

(m) 15¢ + 20c () 6w -3w

(@) 7x-3x-x (1) 8k-8k

(u) y2+y* (v) a®+a*+a?

() 2w + 4w? + Bw? (2) 6y° - 25" + 3y*

Question 2:  Simplify the following expressions

(a) 4u- 6u (b) 8w - 9w

(e) 3g-2¢ (£) —4f + of

()a+a+ta+ta+a+a
@y+yty+ty-y-y
(k) 9k + 5k

(0) 10y+3y -5y

() 7y-2y+y

W) @+ttt

(c) 4a+2a-9%

(g) -m-7m

(d) s+s+s
()p+p-p-p
M 7m+m

(p) 20t - 14t
(t) 5u- 4u

() 7y* + 3y

(d) 2y-9y

(h) 5y* -7y
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Simplify:
9x+ 3y +4x+2y

Ox+4x+3y+2y

|

13x + 5y

Highlight the like terms. Since |
have two sets of like terms, | used
two different colors.

Reuwrite like terms side by side.

Combine like terms. (Add or
subtract the coefficients of the like
terms.)
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Question 3:  Simplify the following expressions
(a) 3a+2b+4a+b (b) 7y + 5y + 2h + 2h

(d) 7m+ 7p+8m+p+2p (e) 9e+2+e+2

(g) 2y+4+3y-1 (h) 8+3w-w-3
(j) 3x+6y+5x-2y (k) 6m-2s+11s+m
(m) 3a-2b+a-5b (n) 2x- 2y - 6x + 5y

(p) 7p-2q-q+3r+4r (q) 11c+8d-6c-11d

© CORBETTMATHS 2016

(c) g+Ba+2a+g
(f) 4+3a+2a+8
(i) 5-4s-2+10s
M 2a+3b-2+a+3b+4

(0) y - 4m -3y -5m
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Question 1:  Write down the perimeter of each shape below

(@) x+9 @) 3y ©
2Xx 2x
L/
2x

Question 2: A square has a side length of 3x.
Find an expression for the perimeter of the square.

Question3: 6x+7y+x-8y=7x-y
Write down three other expressions that are equal to 7x -y

2x

Question 4:  Find an expression for the perimeter of this shape

4x+1

) —

2x+1




image1.png




image2.png
Expand and simplify 2(a + 3b) - 2(a - 5b)
Solve 3(5a—-4)=-7

Work out £580 + 25

Express 72 as a product of primes

If the nth term is 5n — 15 what is the 10t term
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SO, 2.35 ':- 5 = .41




